s8R S/\-{¢

D-C-R

RoHS#E

AR R
B B b 9 2

EESHHE

=iy 0 A— FLES
| REEER

#hEA:5~7H

M & 2
# B

R EALEE
LSS

1,000 kgf
‘I'\)b k-Fw bk SS4004HZ

M SS400%8k:E
) soaJLydh

| r.n

ZMz/O0O0JLYyITLEREREMITTOET,
Xt LEIEE L., 2OEEFET,

mA

&

OREZEHEDO2FTELANT, BREMLELGETE TER
CFEEL,

@%iﬁi%j‘j.\’éiﬁé'ﬁﬁ'%’) Py e /N

—E5lEib.,

BYULEHELTIHRHTT .

AYA

N—HOHEM7 V¥ X ¥ —TT,

A—IWATFULRE

#hEA:5~7H
fit 71 & 1,000 kef
® B 'I'\)la F-F vk SUS3044EY
m SUS3045H &

5 N — 8 4 soadLSA
FERES0°+5° )

REWME /RO R—k

miE &

D-COBERBAESET LY,

KIN—HRICET 5 TIE

SN—BEDDLN=T

O AA—RIL FZBEALELTIE,

BEBLFI DT, EHMEM TR, 5189 22Y LEGWEK
SITHREVELES,

o &
- <@>}+ B =m0 - MUES
i 13HEEBDAIREE A=LRTIL 2R

- D-C-R12X 50 - D-C-R12X 50SUS| M12x1.75| 50 | 80 | 8 | 22 | 63 | 19 | 330
; D-C-R12X 75 - D-C-R12x 755US| Mi2x1.75| 75 [105 | 8 [ 22 | 63 | 19 | 350
D-C-R12x 100 - D-C-R12X100SUS | M12x1.75 [ 100 [130 | 8 [ 22 | 63 | 19 | 370
D D-C-R12X 120 - D-C-R12X120SUS | Mi2x1.75 [120 | 150 | 8 | 22 | 63 | 19 | 380
— D-C-R12X 125 - D-C-R12X1255US | M12x1.75 [125 | 155 | 8 | 22 | 63 | 19 | 385
Bl D-C-R12X 150 — D-C-R12X1508US | M12x1.75 [ 150 | 180 | 8 [ 22 | 63 | 19 | 400
} D-C-R14x 130 = - MI4x2.0 [130 [161 | 9 | 22 [ 63 | 22 | 440
B D-C-R16X 65 = - MI6X2.0 | 65 | 97 | 10 | 22 | 63 | 24 | 410
7 D-C-R16X 75 - D-C-R16x 75SUS| Mi6x2.0 | 75 [107 [ 10 | 22 | 63 | 24 | 425
‘ D-C-R16X 100 | D-C-R16X 100-HS |D-C-R16X 100SUS | M16%2.0 | 100 | 132 | 10 | 22 | 63 | 24 | 460
} L1 D-C-R16 130 | D-C-R16 130-HS [D-C-R16X130SUS | M16>2.0 [130 |162 | 10 | 22 | 63 | 24 | 500
\ |y | D-CRI6X150 |D-C-RI6X150-H5 [D-C-RI6X150SUS | M16x2.0 [150 [182 [ 10 [ 22 [ 63 [ 24 | 520
| D-C-R16X 180 | D-C-R16 180-HS |D-C-R16X 180SUS | M16%2.0 | 180 [212 | 10 | 22 | 63 | 24 | 560
‘ D-C-R16X200 | D-C-R16X200-HS |D-C-R16x200SUS | M16X2.0 [200 [232 | 10 | 22 | 63 | 24 | 590
| D-C-R20X 100 | D-C-R20X 100-HS |D-C-R20x 100SUS | M20%2.5 | 100 [ 135 | 13 | 22 | 63 | 30 | 610
) D-C-R20X 130 | D-C-R20X 130-HS |D-C-R20x 1305US | M20x2.5 | 130 | 165 | 13 | 22 | 63 | 30 | 670
i J H D-C-R20X 150 | D-C-R20X 150-HS |D-C-R20x 150SUS | M20X2.5 | 150 | 185 | 13 | 22 | 63 | 30 | 720
| D-C-R20X 180 | D-C-R20X 180-HS [D-C-R20x 180SUS | M20x2.5 | 180 [215 | 13 | 22 | 63 | 30 | 780
D-C-R20X200 | D-C-R20X200-HS |D-C-R20x2005US | M20X2.5 |200 [235 | 13 | 22 | 63 | 30 | 810

oA IS A XRYFES,

ADJUSTER BOLT






